
Answer on Question # 70159, Chemistry / General Chemistry 
 
What is the velocity of the electron that is ejected from a metal surface (Φ 

= 1.714×10–19 J) when a 77 nm photon of light strikes the metal surface? 
 
Solution: 
 
1. Calculate the general energy: 

𝐾𝑚𝑎𝑥 = ℎ ×
𝑐

𝜆
− Ф0 

𝐾𝑚𝑎𝑥 = 6,63 × 10−34 ×
3 × 108

77 × 10−9
− 1.714 × 10−19

= 24.117 × 10−19 (𝐽) 
2. Kinetic energy of the electron 

𝐾𝑚𝑎𝑥 =  
1

2
× 𝑚 × 𝑣2 ⟹ 𝑣 =  √

2 × 𝐾𝑚𝑎𝑥

𝑚
 

𝑣 =  √
2 × 24.117 × 10−19

9.1 × 10−31
= 2.30 × 106 (

𝑚

𝑠
) 

Answer: 2.30 × 106 (
𝑚

𝑠
) 
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